¥ l\ ——
5 110£#E< & 2RBERFIFRE == RS 5
AVA
#1: 3 B£2(70.68) #2: 2 wJéLZ?(& 9) #3: 9 LI7E1E60.07)
1 INS: S 48F 2 (BH0) 10 4 NS: "5 #I#¥(BiC) -7 14.54 : 5.46 | Total VP: 45.07 Rank:
EW: ¥30F SEEEEAC) 7 EW: B5REE #RE4ETE(FFO) -1 IMP:| 36 22 7
___ _
# 1 » KQ87 3HW-150 Mean: 3HE-2 100 40 1 |[|# 12 aA 5HN6 680 Mean: 5HN6 680 2.0 1
v Q7 2DN-1-50 -40 3HW-1 50 30 1 v AQ864 5DN5 600 620  4HN6 680 20 2
¢ AQ842 Dif: 100 NS:3 2CE-1 50 30 3 ¢ AK9865 Dif: 80 NS:2 5HN5 650 1.0 1
&73 IMP: 3 EW:0 A 00 4 a6 IMP: 2 EW:1 A 0.0 4
s 94 # T65 2DN-1 50 00 1 ||a QT62 » KJ8743 5DN6 620 00 2
v T65432 v AK 2DN-2 4100 20 1 ||e K3 | v 975 5DN5 600 1.0 1
+ KJB3 ¢ 975 2HXW2 470 100 1 ||e J43 72 4SXE-3 500 3.0 1
T » AKJ84 & QJ95 » A8
B o VAN 4AI32 P OVABN 495
N 2~~32 ¢J98 N 366~6 »JT2
S 2~~32 T S 366~6 ¢QT
E ~~1~~ &Q9652 E ~~~1~ a&KT7432
~~1~~ W ~~~1~
# 13 a 743 2NN2 120 Mean: 3CE-1 100 20 1 [|# 14 » K63 3HE3 -140 Mean: 6HE-2 100 9.0 1
v A87 3DN-1-100 50  2NN2 1200 20 1 T 4HE4 -420 -320 3HE3 140 50 1
+ AQ76 Dif: 220 NS:2 2DN3 10 20 1 + AQJ93 Dif: 280 NS:5 A 00 4
& A92 IMP: 6 EW:4 1NN2 120 20 2 a AT87 IMP: 7 EW:3 4HE4 420 30 5
a A8 N » KQJ9 2DN2 20 1.0 1 ||a 542 » AQJ9 4HES 450 -4.0 1
v 6543 v J2 A 0.0 4 ||w 432 v AKQ976
+ T985 + ¢ J3 3BDNA 100 40 1 ||e52 o KT
~ QT5 » KJ643 2cw2 90 40 1 ||a KQ942 a5
do o VAN 4,T652 ¢V AN 4, T87
N ~23~2 «KQT9 N ~2~~~ ¢J85
S ~23~2 eK42 S ~ 1~~~ o 8764
E 2~~~~ 887 E ~~332 &J63
2~~~ ~ W ~~332
# 15 » AQJB6 4SN4 620 Mean: 5CS5 600 60 1 |[|# 16 » AK842 3NN-1-50 Mean: 3DS3 10 3.0 1
v5 3NS-1-100 370 4SN4 620 60 4 v A6 3DS3110 20  3DN4 130 30 1
+ K75 Dif: 720 NS:6 A 00 4 ¢ 74 Dif: -160 NS:-2 2SN2 10 30 2
& AJ94 IMP: 12 EW:10 2DN3 10 60 1 » AJG2 IMP: -4 EW:-3 2DS4 130 30 1
a2 » KT74 55S-1 100 100 1 ||a QJ96 a73 A 0.0 4
v Q8743 v JT96 3NS-1 100 -10.0 1 ||e T872 —_— v KQ54 3NN-1 50 2.0 1
¢ JT632 + A8 ¢ T2 + A98 3SN-3 150 5.0 1
a 32 & 765 & Q87 & KT54 3NS-4 200 -6.0 1
B VAN 4,953 S OVABN oT5
N 5~~43 9AK2 N ~4~11 «¢J93
S 5~~43 ¢Q% S ~4~1~ ¢ KQJB53
E ~~~~~ & KQT8 E ~~~~~ » 93
~~~~~ W ~ o~ o~ o~ o~
# 17 » KT6 4HS6 480 Mean: 6HN6 980 100 1 [|# 18 a5 2NS-2-200 Mean: 3SW-2 100 40 1
v K53 6HN6 980 530 A 00 4 v 982 3SW-2100 -50  3CN3 110 40 1
¢ A73 Dif: -500 NS:-2 4HS6 480 2.0 3 + AQ92 Dif: -300 NS:-4 2SW-1 50 30 1
& AKQT IMP: -11 EW:-10 4HN6 480 2.0 2 » AB653 IMP: -7 EW:4 A 0.0 4
» Q987 52 4HN5 450 2.0 2 ||a AJSG3 s KT7 3Cs-1 100 20 1
v AQ v 97 v KQu4 | v T75 3CN-1 100 20 1
¢ T82 + KJ965 ¢ 65 ¢ 8743 3sW3 140 3.0 1
& 9742 » J863 & 74 & KQT 2sw3 140 3.0 1
VAN 4AJL3 F ¢V AN 4 Q942 2NS-2 200 -40 1
N ~~656 »JT8642 N 21~~~ ¢ A63
S ~~645 ¢+Q4 S 21~~~ oKIT
E ~~~~~ &5 E ~~121 aJ92
~~~~~ W ~~121
# 19 aJ75 2SW-2 200 Mean: 4SW-4 400 50 1 |[|# 20 » Q643 3NW5 -660 Mean: 3NW4 630 1.0 2
v 3HS-1-50 210 4SW-3 300 30 1 v T82 3NW5 -660 -650 A 00 4
+ AQ65 Dif: 250 NS:0 3SW-3 300 30 1 ¢ Q3 Dif: 0 NS:0 3NW5 660 0.0 6
& AJ982 IMP: 6 EW:6 A 00 4 a JT64 IMP: 0 EW:0
#» AK863 » QT2 3SW-2 200 00 1|]|aAJ9 s KT72
v KQ5 v T63 2SW-2 200 00 3 (|wAK + v 973
¢ J842 ¢ T73 3HS-1 50 6.0 1 []|e KT842 + A95
aT » KQ75 & 982 & A75
oeVAN 4,94 B OVABN 485
N 3 ~ 2~ ~ ¢ A98742 N ~~~~~ v QJ654
S 2~2~~ ¢K9 S ~~~~~ ¢ J76
E ~1~~2 #4643 E ~4~44 aKQ3
~1~~2 W ~4~44




10EF<F 2RBERFRE

==> RO

#1: 3 BEZ(70.68) #2: 2 BB R (63. 9) #3: 9 LLIEHE(60.07)

mnwz »eed
vinn 6 2GR
(X3
tille WX
=11 4 N
1l ww P
tINNZ

tlilowwd
IR TR

I NN Z

INS: 2268 PR T-FEEHO0) -17 3 NS: B{E3E FER(BAC) 9 4.25 15.75| Total VP: 63.90 Rank:
EW: BESEE S/ HEC) -9 EW: ZZ#E5 213¥K(F0) 17 IMP:| 12 31 2
-
» KQ87 2HXW2 -470 Mean: 3HE-2 100 40 1 |[|# 12 a A 5HN5 650 Mean: 5HN6 680 20 1
v Q7 2CE-150 -40 3HW-1 50 30 1 v AQ864 4HN6 680 620  4HN6 680 2.0 2
» AQ842 Dif: -520 NS:-10 2CE-1 50 30 3 + AK9865 Dif: -30 NS:1 5HN5 650 1.0 1
& 73 IMP: 11 EW:-3 A 00 4 a6 IMP: -1 EW:-2 A 00 4
s T65 2DN-1 -50 00 1 [|a QT62 & KJ8743 5DN6 620 00 2
v AK 2DN-2 100 20 1 ||v K3 I v 975 5DN5 600 -1.0 1
¢ 975 2HXW2 470 100 1 |[|e J43 ¢ 72 4SXE-3 500 3.0 1
» AKJ84 & QJ95 a A8
» AJ32 *eVAN 4,95
v J98 N 366~6 »JT2
T S 366~6 ¢QT
& Q9652 E ~~~1~ aKT7432
W ~~~1~
743 1NN2 120 Mean: 3CE-1 100 20 1 |[|# 14 » K63 6HE-2 100 Mean: 6HE-2 100 9.0 1
v A87 1NN2 120 50 2NN2 120 2.0 1 T 4HE4 -420 -320 3HE3 140 50 1
» AQ76 Dif: 0 NS:2 2DN3 110 2.0 1 + AQJ93 Dif: 520 NS:9 A 0.0 4
& A92 IMP: 0 EW:-2 1NN2 120 20 2 » AT87 IMP: 11 EW:3 4HE4 420 30 5
N & KQJ9 2DN2 90 10 1 ||s 542 & AQJ9 4HE5 450 40 1
v J2 A 0.0 4 [|v 432 v AKQ976
+ ¢ J3 3DN-1 -100 40 1 []|e 52 ¢ KT
» KJ643 2cw2 90 -40 1 ||e KQ942 a5
& 1652 ¢V AN 4 T87
v KQT9 N ~2~~~ ¢J85
o K42 S ~1~~~ 48764
& 87 E ~~332 aJ63
W ~~332
» AQJ86 58S-1 -100 Mean: 5CS5 600 6.0 1 |[|# 16 » AK842 3NS-4 -200 Mean: 3DS3 110 3.0 1
v5 4SN4 620 370 4SN4 620 6.0 4 v A6 2SN2 110 20 3DN4 130 30 1
* K75 Dif: -720 NS:-10 A 00 4 ¢ 74 Dif: -310 NS:-6 2SN2 10 3.0 2
& AJ94 IMP: -12 EW:-6 2DN3 110 60 1 » AJG2 IMP: -7 EW:-3 2DS4 130 30 1
a KT74 58S-1 -100 -10.0 1 |[|& QJ96 s 73 A 00 4
v JT96 3NS-1 -100 100 1 || T872 — v KQ54 3NN-1 50 20 1
+ A8 ¢ T2 ¢ A98 3SN-3 150 5.0 1
a 765 & Q87 a KT54 3NS-4 200 -60 1
# 953 S OVABN oT5
v AK2 N ~4~11 ¢J93
¢+ Q94 S ~4~1~ ¢ KQJE53
& KQT8 E ~~~~~ a 93
W ~~~~~
4 KT6 4HN5 450 Mean: 6HN6 980 100 1 ||# 18 a5 3CN-1-100 Mean: 3SW-2 100 40 1
v K53 4HN5 450 530 A 00 4 v 982 3CS-1-100 -50  3CN3 110 40 1
o A73 Dif: 0 NS:-2 4HS6 480 2.0 3 * AQ92 Dif: 0 NS:-2 2Sw-1 50 3.0 1
& AKQT IMP: 0 EW:2 4HN6 480 2.0 2 » A8653 IMP: 0 EW:2 A 0.0 4
s 52 4HN5 450 20 2 ||a AJB63 a KT7 3CS-1 -100 20 1
v 97 v KQJ4 I v T75 3CN-1 100 20 1
+ KJ965 ¢ 65 ¢ 8743 3SW3 140 3.0 1
» J863 & 74 » KQT 2SW3 140 3.0 1
» AJ43 oo VAN 4 Q942 2NS-2 -200 -40 1
v JT8642 N 21~~~ «AB3
* Q4 S 21~~~ oKIT
&5 E ~~121 aJ92
W ~~121
 J75 3SW-2 200 Mean: 4SW-4 400 50 1 [|# 20 » Q643 3NW4 -630 Mean: 3NW4 630 1.0 2
vJ 2SW-2200 210 4SW-3 300 30 1 v T82 3NW5-660 -650 A 0.0 4
» AQ65 Dif: 0 NS:0 3sSw-3 300 30 1 ¢ Q3 Dif: 30 NS:1 3NW5 660 0.0 6
& AJ982 IMP:0 EW:0 A 00 4 » JT64 IMP: 1 EW:0
» QT2 3SW-2 200 00 1 ||sAJ9 s KT72
v T63 2SW-2 200 00 3 ||v AK + v 973
¢ T73 3HS-1 50 -6.0 1 |]|e KT842 + A95
» KQ75 & 982 a A75
494 *eVAN 485
» A98742 N ~~~~~ v QJ654
¢ K9 S ~~~~~ ¢ J76
& 643 E ~4~44 aKQ3
W ~4~414




10EF<F 2RBERFRE

==> RO

#1: 3 ﬁfﬁ(m 68) #2: 2 BB FR(63. 9) #3: 9 LLIEHE(60.07)

mnwz »eed
vinn 6 2GR
(X3
tille WX
=11 4 N
1l ww P
tINNZ

tlilowwd
IR TR

I NN Z

NS: {23 FEBEAC) 9 2 S: Z2HE M i (BAO) 17 15.75 : 4.25 Total VP: 70.68 Rank:
EW: FEREIR EI¥/K(BHO) 17 EW: REE E1B8H(FC) -9 IMP:| 31 : 12 1
N -
» KQ87 2HXW2 470 Mean: 3HE-2 100 40 1 |[|# 12 a A 5HN5 -650 Mean: 5HN6 680 20 1
v Q7 2CE-1-50 -40 3HW-1 50 30 1 v AQ864 4HNG6 -680 620  4HN6 680 2.0 2
» AQ842 Dif: 520 NS:3 2CE-1 50 30 3 + AK9865 Dif: 30 NS:2 5HN5 650 1.0 1
& 73 IMP: 11 EW:10 A 00 4 a6 IMP:1 EW:-1 A 00 4
s T65 2DN-1 -50 00 1 [|a QT62 & KJ8743 5DN6 620 00 2
v AK 2DN-2 100 20 1 ||v K3 I v 975 5DN5 600 -1.0 1
¢ 975 2HXW2 470 100 1 |[|e J43 ¢ 72 4SXE-3 500 3.0 1
» AKJ84 & QJ95 a A8
» AJ32 *eVAN 4,95
v J98 N 366~6 »JT2
T S 366~6 ¢QT
& Q9652 E ~~~1~ aKT7432
W ~~~1~
743 1NN2 -120 Mean: 3CE-1 100 20 1 |[|# 14 » K63 6HE-2 -100 Mean: 6HE-2 100 9.0 1
v A87 1NN2 -120 50 2NN2 120 2.0 1 T 4HE4 420 -320 3HE3 140 50 1
» AQ76 Dif: 0 NS:2 2DN3 110 2.0 1 + AQJ93 Dif: -520 NsS:-3 A 0.0 4
& A92 IMP: 0 EW:-2 1NN2 120 20 2 » AT87 IMP: -11 EW:9 4HE4 420 30 5
N & KQJ9 2DN2 90 10 1 ||s 542 & AQJ9 4HE5 450 40 1
v J2 A 0.0 4 [|v 432 v AKQ976
+ ¢ J3 3DN-1 -100 40 1 []|e 52 ¢ KT
» KJ643 2cw2 90 -40 1 ||e KQ942 a5
& 1652 ¢V AN 4 T87
v KQT9 N ~2~~~ ¢J85
o K42 S ~1~~~ 48764
& 87 E ~~332 aJ63
W ~~332
» AQJ86 5S8S-1 100 Mean: 5CS5 600 6.0 1 |[|# 16 » AK842 3NS-4 200 Mean: 3DS3 110 3.0 1
v5 4SN4 -620 370  4SN4 620 6.0 4 v A6 2SN2 -110 20 3DN4 130 3.0 1
* K75 Dif: 720 NS:6 A 00 4 ¢ 74 Dif: 310 NS:3  2SN2 10 3.0 2
& AJ94 IMP: 12 EW:10 2DN3 110 60 1 » AJG2 IMP: 7 EW:6 2DS4 130 30 1
a KT74 58S-1 -100 -10.0 1 |[|& QJ96 s 73 A 00 4
v JT96 3NS-1 -100 100 1 || T872 — v KQ54 3NN-1 50 20 1
+ A8 ¢ T2 ¢ A98 3SN-3 150 5.0 1
a 765 & Q87 a KT54 3NS-4 200 -60 1
# 953 S OVABN oT5
v AK2 N ~4~11 ¢J93
¢+ Q94 S ~4~1~ ¢ KQJE53
& KQT8 E ~~~~~ a 93
W ~~~~~
4 KT6 4HN5 -450 Mean: 6HNG6 980 100 1 ||# 18 a5 3CN-1 100 Mean: 3SW-2 100 40 1
v K53 4HN5 -450 530 A 00 4 v 982 3CS-1100 -50 3CN3 110 40 1
o A73 Dif: 0 NS:-2 4HS6 480 2.0 3 * AQ92 Dif: 0 NS:-2 2Sw-1 50 3.0 1
& AKQT IMP: 0 EW:2 4HN6 480 2.0 2 » A8653 IMP: 0 EW:2 A 0.0 4
s 52 4HN5 450 20 2 ||a AJB63 a KT7 3CS-1 -100 20 1
v 97 v KQJ4 I v T75 3CN-1 100 20 1
+ KJ965 ¢ 65 ¢ 8743 3SW3 140 3.0 1
» J863 & 74 » KQT 2SW3 140 3.0 1
» AJ43 oo VAN 4 Q942 2NS-2 -200 -40 1
v JT8642 N 21~~~ «AB3
* Q4 S 21~~~ oKIT
&5 E ~~121 aJ92
W ~~121
 J75 3SW-2 -200 Mean: 4SW-4 400 50 1 [|# 20 » Q643 3NW4 630 Mean: 3NW4 630 1.0 2
vJ 2SW-2 -200 210  4SW-3 300 30 1 v T82 3NW5 660 -650 A 0.0 4
» AQ65 Dif: 0 NS:-0 3Sw-3 300 30 1 ¢ Q3 Dif: -30 NS:-0 3NW5 660 0.0 6
& AJ982 IMP: 0 EW:-0 A 00 4 » JT64 IMP: -1 EW:-1
» QT2 3SW-2 200 00 1 ||sAJ9 s KT72
v T63 2SW-2 200 00 3 ||v AK + v 973
¢ T73 3HS-1 50 -6.0 1 |]|e KT842 + A95
» KQ75 & 982 a A75
494 *eVAN 485
» A98742 N ~~~~~ v QJ654
¢ K9 S ~~~~~ ¢ J76
& 643 E ~4~44 aKQ3
W ~4~414




¥ l\ ——
5 110£#E< & 2RBERFIFRE == RS 5
AVA
#1:3 31?7,6(70 68) #2: 2 ,U\E‘\Z%(& 9) #3: 9 LI7E1E60.07)
4 NS: B{—5% BT EEEAC) -7 1 S: B2% &£ E 2 (F0) 10 5.46 14.54| Total VP: 50.08 Rank:
EW: E52HH $R@$1E(EE0) -10 EW: &30& SEUR(BAC) 7 IMP:| 22 36 5
___ _
# 1 » KQ87 3HW-1-50 Mean: 3HE-2 100 40 1 |[|# 12 aA 5HNG -680 Mean: 5HN6 680 2.0 1
v Q7 2DN-150 -40 3HW-1 50 30 1 v AQ864 5DN5 -600 620  4HN6 680 20 2
» AQ842 Dif: -100 NS:-0 2CE-1 50 30 3 ¢ AK9865 Dif: -80 NS:-1 5HN5 650 1.0 1
&73 IMP: -3 EW:-3 A 00 4 a6 IMP: -2 EW:-2 A 0.0 4
s 94 4 T65 2DN-1 50 00 1 ||a QT62 #» KJ8743 5DN6 620 00 2
v 165432 v AK 2DN-2 4100 20 1 || K3 | v 975 5DN5 600 1.0 1
+ KJ63 ¢ 975 2HXW2 470 100 1 ||e J43 * 72 4SXE-3 500 3.0 1
T » AKJB4 & QJ95 » A8
B o VAN 4AI32 P OVABN 495
N 2~~32 ¢J98 N 366 ~6 »JT2
S 2~~32 T S 366~6 ¢QT
E ~~1~~ &Q9652 E ~~~1~ aKT7432
~~1~~ W ~~~1~
# 13 a 743 2NN2 -120 Mean: 3CE-1 100 20 1 [|# 14 » K63 3HE3 140 Mean: 6HE-2 100 9.0 1
v A87 3DN-1100 50  2NN2 1200 20 1 T 4HE4 420 -320 3HE3 140 50 1
+ AQ76 Dif: -220 NS:-4 2DN3 10 20 1 » AQJ93 Dif: -280 NS:-3 A 00 4
& A92 IMP: -6 EW:-2 1NN2 120 20 2 a AT87 IMP: -7 EW:-5 4HE4 420 30 5
s A8 N » KQJ9 2DN2 90 1.0 1 ||a 542 » AQJ9 4HE5 450 -4.0 1
v 6543 v J2 A 00 4 ||v 432 v AKQ976
o T985 + ¢ J3 3BDNA 100 40 1 ||e52 o KT
~ QT5 » KJ643 2CW2 90 40 1 ||a KQ942 a5
F ¢V ABN 47652 ¢V AN ,T87
N ~23~2 «KQT9 N ~2~~~ ¢J85
S ~23~2 eK42 S ~ 1~~~ 8764
E 2~~~~ a87 E ~~332 &J63
2~~~ ~ W ~~332
# 15 » AQJB6 4SN4 -620 Mean: 5CS5 600 60 1 |[|# 16 » AK842 3NN-1 50 Mean: 3DS3 10 3.0 1
v5 3NS-1100 370  4SN4 620 60 4 v A6 3DS3-110 20  3DN4 130 30 1
¢ K75 Dif: -720 NS:-10 A 00 4 74 Dif: 160 NS:3 2SN2 10 30 2
& AJ94 IMP: -12 EW:-6 2DN3 10 60 1 » AJG2 IMP: 4 EW:2 2DS4 130 30 1
a2 & KT74 55S-1 100 -10.0 1 || QJ96 a73 A 0.0 4
v Q8743 v JT96 3NS-1 100 -10.0 1 ||e T872 —_— v KQ54 3NN-1 50 2.0 1
¢ JT632 + A8 ¢ T2 ¢ A98 3SN-3 150 5.0 1
a 32 a 765 & Q87 & KT54 3NS-4 200 -6.0 1
B VAN 4,953 S OVABN oT5
N 5~~43 9AK2 N ~4~11 «J93
S 5~~43 ¢Q% S ~4~1~ ¢ KQJB53
E ~~~~~ & KQT8 E ~~~~~ » 93
~~~~~ W ~ o~ o~ o~ o~
# 17 » KT6 4HS6 -480 Mean: 6HN6 980 100 1 [|# 18 a5 2NS-2200 Mean: 3SW-2 100 40 1
v K53 6HNG6 -980 530 A 00 4 v 982 3SW-2-100 -50  3CN3 110 40 1
¢ A73 Dif: 500 NS:10 4HS6 480 2.0 3 » AQ92 Dif: 300 NS:4 2SW-1 50 30 1
& AKQT IMP: 11 EW:2 4HN6 480 2.0 2 » AB653 IMP: 7 EW:4 A 0.0 4
» Q987 # 52 4HN5 450 2.0 2 ||a AJSG3 s KT7 3CS-1 100 20 1
v AQ v 97 v KQJ4 | v T75 3CN-1 100 20 1
¢ T82 + KJ965 ¢ 65 ¢ 8743 3SW3 140 3.0 1
a 9742 » J863 & 74 & KQT 2SW3 140 3.0 1
VAN 4AJL3 F ¢V AN 4 Q942 2NS-2 200 -40 1
N ~~656 «JT8642 N 21~~~ «A63
S ~~645 ¢+Q4 S 21~~~ oKIT
E ~~~~~ &5 E ~~121 aJ92
~~~~~ W ~~121
# 19 aJ75 2SW-2 -200 Mean: 4SW-4 400 50 1 |[|# 20 » Q643 3NW5 660 Mean: 3NW4 630 1.0 2
v 3HS-150 210 4SW-3 300 30 1 v T82 3NW5 660 -650 A 00 4
+ AQ65 Dif: -250 NS:-6 3SW-3 300 30 1 ¢ Q3 Dif: 0 NS:-0 3NW5 660 0.0 6
& AJ982 IMP: -6 EW:-0 A 00 4 a JT64 IMP: 0 EW:-0
#» AK863 » QT2 3SW-2 200 00 1| AJ9 s KT72
v KQ5 v T63 2SW-2 200 00 3 (|wAK + v 973
¢ J842 ¢ T73 3HS-1 50 6.0 1 []|e KT842 + A95
aT » KQ75 & 982 a A75
oeVAN 4,94 B OVABN 485
N 3 ~ 2~ ~ ¢A98742 N ~~~~~ v QJ654
S 2~2~~ ¢K9 S ~~~~~ ¢ J76
E ~1~~2 #4643 E ~4~44 aKQ3
~1~~2 W ~4~44




¥ l\ ——
5 110£#E< & 2RBERFIFRE == RS 5
AVA
#1: 3 B£2(70.68) #2: 2 wJéLZ%(& 9) #3: 9 LI7E1E60.07)
5 NS: BE#ES: STRINEEO) 1 8 NS: BBl 32 22BAZ(BAC) -8 12.83 : 7.17 | Total VP: 33.04 Rank:
EW: BEEIE Wisk=EAC) 8 EW: BREZHE R{CE(FO0) 1 IMP:| 21 13 10
___ __ —
# 1 » KQ87 2CE-150 Mean: 3HE-2 100 40 1 |[|# 12 aA 5DN6 620 Mean: 5HN6 680 2.0 1
v Q7 2DN-2 -100 -40 3HW-1 50 30 1 v AQ864 ASXE-3 500 620 4HN6 680 20 2
» AQ842 Dif: 150 NS:3 2CE-1 50 30 3 ¢ AK9865 Dif: 120 NS:0 5HN5 650 1.0 1
&73 IMP: 4 EW:2 A 00 4 a6 IMP: 3 EW:3 A 0.0 4
s 94 4 T65 2DN-1 50 00 1 ||a QT62 » KJ8743 5DN6 620 00 2
v T65432 v AK 2DN-2 4100 20 1 || K3 | v 975 5DN5 600 1.0 1
+ KJB3 ¢ 975 2HXW2 470 100 1 ||e J43 * 72 4SXE-3 500 3.0 1
T » AKJ84 & QJ95 » A8
B o VAN 4AI32 P OVABN 495
N 2~~32 ¢J98 N 366 ~6 »JT2
S 2~~32 T S 366~6 ¢QT
E ~~1~~ &Q9652 E ~~~1~ a&KT7432
~~1~~ W ~~~1~
# 13 a 743 3CE-1100 Mean: 3CE-1 100 20 1 [|# 14 » K63 4HE4 -420 Mean: 6HE-2 100 9.0 1
v A87 2DN3 110 50  2NN2 1200 20 1 T 4HE5 -450 -320 3HE3 140 50 1
+ AQ76 Dif: -10 NS:2 2DN3 10 20 1 + AQJ93 Dif: 30 NS:-3 A 00 4
& A92 IMP: 0 EW:-2 1NN2 120 20 2 a AT87 IMP: 1 EW:4 4HE4 420 30 5
s A8 N » KQJ9 2DN2 20 1.0 1 ||a 542 » AQJ9 4HES 450 -4.0 1
v 6543 v J2 A 00 4 ||v 432 v AKQ976
+ T985 + ¢ J3 3BDNA 100 40 1 ||e52 o KT
~ QT5 » KJ643 2CW2 90 40 1 ||a KQ942 a5
F ¢V ABN 47652 ¢V AN ,T87
N ~23~2 «KQT9 N ~2~~~ ¢J85
S ~23~2 eK42 S ~ 1~~~ 48764
E 2~~~~ 887 E ~~332 &J63
2~~~ ~ W ~~332
# 15 » AQJB6 5CS5 600 Mean: 5CS5 600 60 1 |[|# 16 » AK842 3SN-3-150 Mean: 3DS3 10 3.0 1
v5 2DN3 110 370  4SN4 620 60 4 v A6 2DS4130 20  3DN4 130 30 1
+ K75 Dif: 490 NS:6 A 00 4 ¢ 74 Dif: -280 NS:-5 2SN2 10 30 2
& AJ94 IMP: 10 EW:6 2DN3 10 60 1 » AJG2 IMP: -7 EW:-3 2DS4 130 30 1
a2 » KT74 55S-1 100 -10.0 1 || QJ96 a73 A 0.0 4
v Q8743 v JT96 3NS-1 100 -10.0 1 ||e T872 —_— v KQ54 3NN-1 50 2.0 1
¢ JT632 + A8 ¢ T2 ¢ A98 3SN-3 150 5.0 1
a 32 a 765 & Q87 & KT54 3NS-4 200 -6.0 1
B VAN 4,953 S OVABN oT5
N 5~~43 9AK2 N ~4~11 «¢J93
S 5~~43 ¢Q% S ~4~1~ ¢ KQJB53
E ~~~~~ & KQT8 E ~~~~~ » 93
~~~~~ W ~ o~ o~ o~ o~
# 17 » KT6 4HS6 480 Mean: 6HN6 980 100 1 [|# 18 a5 2SW3 -140 Mean: 3SW-2 100 40 1
v K53 4HS6 480 530 A 00 4 v 982 2SW-150 -50  3CN3 110 40 1
¢ A73 Dif: 0 NS:-2 4HS6 480 2.0 3 + AQ92 Dif: -190 NS:-3 2SW-1 50 30 1
& AKQT IMP: 0 EW:2 4HN6 480 2.0 2 » AB653 IMP: -5 EW:3 A 0.0 4
» Q987 # 52 4HN5 450 2.0 2 ||a AJSG3 s KT7 3Cs-1 100 20 1
v AQ v 97 v KQu4 | v T75 3CN-1 100 20 1
¢ T82 + KJ965 ¢ 65 ¢ 8743 3sW3 140 3.0 1
& 9742 » J863 & 74 & KQT 2SW3 140 3.0 1
VAN 4AJL3 F ¢V AN 4 Q942 2NS-2 200 -40 1
N ~~656 «JT8642 N 21~~~ «A63
S ~~645 ¢+Q4 S 21~~~ oKIT
E ~~~~~ &5 E ~~121 aJ92
~~~~~ W ~~121
# 19 aJ75 4SW-3 300 Mean: 4SW-4 400 50 1 |[|# 20 » Q643 3NW5 -660 Mean: 3NW4 630 1.0 2
v 2SW-2200 210 4SW-3 300 30 1 v T82 3NW4 -630 -650 A 00 4
+ AQ65 Dif: 100 NS:3  3SW-3 300 30 1 ¢ Q3 Dif: -30 NS:0 3NW5 660 0.0 6
& AJ982 IMP: 3 EW:0 A 00 4 a JT64 IMP: -1 EW:-1
#» AK863 » QT2 3SW-2 200 00 1| AJ9 s KT72
v KQ5 v T63 2SW-2 200 00 3 (|wAK + v 973
¢ J842 ¢ T73 3HS-1 50 6.0 1 []|e KT842 + A95
aT » KQ75 & 982 & A75
oeVAN 4,94 B OVABN 485
N 3 ~ 2~ ~ ¢A98742 N ~~~~~ v QJ654
S 2~2~~ ¢K9 S ~~~~~ ¢ J76
E ~1~~2 #4643 E ~4~44 aKQ3
~1~~2 W ~4~44




10EF<F 2RBERFRE

==> RO

#1: 3 BEZ(70.68) #2: 2 BB R (63. 9) #3: 9 LLIEHE(60.07)

mnwz »eed
vinn 6 2GR
(X3
tille WX
=11 4 N
1l ww P
tINNZ

tlilowwd
IR TR

I NN Z

INS: {528} # S (BEO) 13 9 NS:JFE R sS4+ (Fic) 1 10.39 : 9.61 Total VP: 56.24 Rank:
EW: HE&E& BEBGSREAC) -10 EW: 3IIER] EF4E(FHO) -1 IMP:| 10 : 9 4
» KQ87 3HE-2 100 Mean: 3HE-2 100 40 1 |[|# 12 a A 4HNG6 680 Mean: 5HN6 680 20 1
v Q7 2CE-150 -40 3HW-1 50 30 1 v AQ864 5DN6 620 620  4HN6 680 2.0 2
» AQ842 Dif: 50 NS:4 2CE-1 50 30 3 + AK9865 Dif: 60 NS:2 5HN5 650 1.0 1
& 73 IMP: 2 EW:-3 A 00 4 a6 IMP:2 EW:0 A 00 4
s T65 2DN-1 -50 00 1 [|a QT62 & KJ8743 5DN6 620 00 2
v AK 2DN-2 100 20 1 ||v K3 I v 975 5DN5 600 -1.0 1
¢ 975 2HXW2 470 100 1 |[|e J43 ¢ 72 4SXE-3 500 3.0 1
» AKJ84 & QJ95 a A8
» AJ32 *eVAN 4,95
v J98 N 366~6 »JT2
T S 366~6 ¢QT
& Q9652 E ~~~1~ aKT7432
W ~~~1~
743 2CW2 -90 Mean: 3CE-1 100 20 1 |[|# 14 » K63 4HE4 -420 Mean: 6HE-2 100 9.0 1
v A87 2DN2 90 50 2NN2 120 2.0 1 T 4HE4 -420 -320 3HE3 140 50 1
» AQ76 Dif: -180 NS:-4 2DN3 110 2.0 1 + AQJ93 Dif: 0 Ns:-3 A 0.0 4
& A92 IMP: -5 EW:-1 1NN2 120 20 2 » AT87 IMP: 0 EW:3 4HE4 420 30 5
N & KQJ9 2DN2 90 10 1 ||s 542 & AQJ9 4HE5 450 40 1
v J2 A 0.0 4 [|v 432 v AKQ976
+ ¢ J3 3DN-1 -100 40 1 []|e 52 ¢ KT
» KJ643 2cw2 90 -40 1 ||e KQ942 a5
& 1652 ¢V AN 4 T87
v KQT9 N ~2~~~ ¢J85
o K42 S ~1~~~ 48764
& 87 E ~~332 aJ63
W ~~332
» AQJ86 4SN4 620 Mean: 5CS5 600 6.0 1 |[|# 16 » AK842 2SN2 110 Mean: 3DS3 110 3.0 1
v5 4SN4 620 370 4SN4 620 6.0 4 v A6 3DN4 130 20 3DN4 130 30 1
* K75 Dif: 0 NS:6 A 00 4 ¢ 74 Dif: -20 NS:3  2SN2 10 3.0 2
& AJ94 IMP: 0 EW:-6 2DN3 110 60 1 » AJG2 IMP: -1 EW:-3 2DS4 130 3.0 1
a KT74 58S-1 -100 -10.0 1 |[|& QJ96 s 73 A 00 4
v JT96 3NS-1 -100 100 1 || T872 — v KQ54 3NN-1 50 20 1
+ A8 ¢ T2 ¢ A98 3SN-3 150 5.0 1
a 765 & Q87 a KT54 3NS-4 200 -60 1
# 953 S OVABN oT5
v AK2 N ~4~11 ¢J93
¢+ Q94 S ~4~1~ ¢ KQJE53
& KQT8 E ~~~~~ a 93
W ~~~~~
4 KT6 4HNG6 480 Mean: 6HN6 980 100 1 ||# 18 a5 3CN3 110 Mean: 3SW-2 100 40 1
v K53 4HNG6 480 530 A 00 4 v 982 3SW3 -140 -50  3CN3 110 40 1
o A73 Dif: 0 NS:-2 4HS6 480 2.0 3 * AQ92 Dif: 250 NS:4 2SW-1 50 30 1
& AKQT IMP: 0 EW:2 4HN6 480 2.0 2 » A8653 IMP: 6 EW:3 A 0.0 4
s 52 4HN5 450 20 2 ||a AJB63 a KT7 3CS-1 -100 20 1
v 97 v KQJ4 I v T75 3CN-1 100 20 1
+ KJ965 ¢ 65 ¢ 8743 3SW3 140 3.0 1
» J863 & 74 » KQT 2SW3 140 3.0 1
» AJ43 oo VAN 4 Q942 2NS-2 -200 -40 1
v JT8642 N 21~~~ «AB3
* Q4 S 21~~~ oKIT
&5 E ~~121 aJ92
W ~~121
 J75 3SW-3 300 Mean: 4SW-4 400 50 1 [|# 20 » Q643 3NW5 -660 Mean: 3NW4 630 1.0 2
vJ 4SW-4 400 210  4SW-3 300 30 1 v T82 3NW5 -660 -650 A 0.0 4
» AQ65 Dif: -100 NS:3 3SW-3 300 30 1 ¢ Q3 Dif: 0 NS:0 3NW5 660 0.0 6
& AJ982 IMP: -3 EW:-5 A 00 4 » JT64 IMP: 0 EW:0
» QT2 3SW-2 200 00 1 ||sAJ9 s KT72
v T63 2SW-2 200 00 3 ||v AK + v 973
¢ T73 3HS-1 50 -6.0 1 |]|e KT842 + A95
» KQ75 & 982 a A75
494 *eVAN 485
» A98742 N ~~~~~ v QJ654
¢ K9 S ~~~~~ ¢ J76
& 643 E ~4~44 aKQ3
W ~4~414




¥ l\ ——
5 10EE<F2RABERFE B - RS 5
AVA
#1: 3 B£2(70.68) #2: 2 ,L.\E‘\Zﬁ(& 9) #3: 9 LI7E1E60.07)
7 INS: (BHO0) 0 10 NS: (FiC) 0 P:[ 12.00 : 10.00| Total VP: 43.15 Rank:
EW: (#C)0 EW: (F0) 0 IMP:l| 0 : 0 8
___
# 11 » KQ87 A Mean: 3HE-2 100 40 1 ||# 12 s A A Mean: 5HN6 680 20 1
v Q7 A -40  3HW-1 50 30 1 v AQ864 A 620  4HN6 680 20 2
» AQ842 Dif: 0 NS:0 2CE-1 50 30 3 + AK9865 Dif: 0 NS:0 5HN5 650 1.0 1
73 IMP: 0 EW:0 A 00 4 a6 IMP: 0 EW:0 A 0.0 4
s 94 # T65 2DN-1 50 00 1 ||a QT62 » KJ8743 5DN6 620 00 2
v T65432 v AK 2DN-2 100 20 1 ||e K3 I v 975 5DN5 600 -1.0 1
+ KJB3 ¢ 975 2HXW2 470 -10.0 1 ||e J43 72 4SXE-3 500 -3.0 1
&T & AKJ84 & QJ95 & A8
B o VAN 4AI32 P OVABN 495
N 2~~32 ¢J98 N 366~6 odJT2
S 2~~32 T S 366 ~6 ¢ QT
E ~~1~~ &Q9652 E ~~~1~ a&KT7432
~~1~~ W ~~~1~
# 13 » 743 A Mean: 3CE-1 100 20 1 |[[|# 14 » K63 A Mean: 6HE-2 100 9.0 1
v A87 A 50  2NN2 1200 20 1 T A 320 3HE3 140 50 1
+ AQ76 Dif: 0 NS:0 2DN3 10 20 1 + AQJ93 Dif: 0 NS:0 A 00 4
& A92 IMP: 0 EW:0 1NN2 120 20 2 » AT87 IMP: 0 EW:0 4HE4 420 30 5
a A8 N » KQJ9 2DN2 90 10 1|]|a542 » AQJ9 4HES 450 -4.0 1
v 6543 v J2 A 00 4 ||v 432 v AKQ976
o T985 + ¢ J3 3BDNA 100 40 1 ||e52 o KT
& QT5 & KJ643 2CW2 -90 40 1 & KQ942 &5
do o VAN 4,T652 ¢V AN 4, T87
N ~23~2 «KQT9 N ~2~~~ ¢J8
S ~23~2 ¢K42 S ~1~~~ 48764
E 2~~~~ 887 E ~~332 &J63
2 ~~~~ W ~~332
# 15 » AQJ86 A Mean: 5CS5 600 6.0 1 ||# 16 & AK842 A Mean: 3DS3 110 30 1
v5 A 370 4SN4 620 60 4 v A6 A 20 3DN4 130 30 1
+ K75 Dif: 0 NS:0 A 00 4 74 Dif: 0 NS:0 2SN2 10 30 2
& AJ94 IMP: 0 EW:0 2DN3 10 60 1 » AJB2 IMP: 0 EW:0 2DS4 130 30 1
a2 » KT74 5SS-1 100 -10.0 1 ||a QJ96 a73 A 0.0 4
v Q8743 v JT96 3NS-1 100 -10.0 1 ||e T872 —_— v KQ54 3NN-1 50 2.0 1
¢ JT632 ¢ A8 ¢ T2 + A98 3SN-3 150 -5.0 1
& 32 & 765 & Q87 & KT54 3NS-4 -200 -6.0 1
B VAN 4,953 S OVABN oT5
N 5~~43 oAK2 N ~4~11 «J93
S 5~~43 ¢+Q9%4 S ~ 4~ 1~ ¢ KQJE53
E ~~~~~ & KQT8 E ~~~~~ » 93
~~~~~ W ~ o~ o~ o~ o~
# 17 » KT6 A Mean: 6HN6 980 100 1 ||# 18 a5 A Mean: 3SW-2 100 40 1
v K53 A 530 A 00 4 v 982 A 50 3CN3 10 40 1
¢ A73 Dif: 0 NS:0 4HS6 480 20 3 + AQ92 Dif: 0 NS:0 2SW-1 50 30 1
& AKQT IMP: 0 EW:0 4HN6 480 2.0 2 & AB653 IMP: 0 EW:0 A 0.0 4
» Q987 52 4HN5 450 2.0 2 || AJSBB3 s KT7 3Cs-1 4100 20 1
v AQ v 97 v KQu4 I v T75 3CN-1 4100 20 1
¢ T82 + KJ965 ¢ 65 ¢ 8743 3sw3 140 -3.0 1
& 9742 & J863 & 74 & KQT 2SwW3 140 -3.0 1
¢V AN A3 ¢V ABN 4 QU2 2NS-2 200 -40 1
N ~~656 «JT8642 N 21~~~ «A63
S ~~645 +Q4 S 21~~~ oKIT
E ~~~~~ &5 E ~~121 aJ92
~~~~~ W ~~121
# 19 2 J75 A Mean: 4SW-4 400 50 1 ||# 20 » Q643 A Mean: 3NW4 630 1.0 2
vl A 210 4SW-3 300 30 1 v T82 A 650 A 0.0 4
+ AQ65 Dif: 0 NS:0 3SW-3 300 30 1 ¢ Q3 Dif: 0 NS:0 3NW5 660 0.0 6
& AJ982 IMP: 0 EW:0 A 00 4 » JT64 IMP: 0 EW:0
# AK863 & QT2 3SwW-2 200 00 1 & AJ9 & KT72
v KQ5 v T63 2SW-2 200 00 3|[|wAK + v 973
¢ J842 ¢ T73 3HS-1 -50 60 1 ¢ KT842 ¢ A95
&T & KQ75 & 982 & A75
oeVAN 4,94 B OVABN 485
N 3 ~ 2~ ~ ¢ A98742 N ~~~~~ v QJ654
S 2~2~~ ¢K9 S ~~~~~ + J76
E ~1~~2 2643 E ~4~44 aKQ3
~1~~2 W ~4~44




10EF<F 2RBERFRE

==> RO

#1: 3 BEZ(70.68) #2: 2 BB R (63. 9) #3: 9 LLIEHE(60.07)

mnwz »eed
vinn 6 2GR
(X3
tille WX
=11 4 N
1l ww P
tINNZ

tlilowwd
IR TR

I NN Z

NS: ¥Fg2 220922 (BAC) -8 5 NS: B#R IR (F0) 1 717 12.83| Total VP: 37.77 Rank:
EW: BEZEHE R{—{E(EH0) -1 EW: EEBIE B = (BAC) 8 IMP:{ 13 : 21 9
—
» KQ87 2CE-1-50 Mean: 3HE-2 100 40 1 |[|# 12 a A 5DN6 -620 Mean: 5HN6 680 20 1
v Q7 2DN-2 100 -40 3HW-1 50 30 1 v AQ864 4SXE-3 -500 620  4HN6 680 2.0 2
» AQ842 Dif: -150 NS:-2 2CE-1 50 30 3 + AK9865 Dif: -120 NS:-3 5HN5 650 1.0 1
&73 IMP: -4 EW:-3 A 00 4 a6 IMP: -3 EW:-0 A 00 4
s T65 2DN-1 -50 00 1 [|a QT62 & KJ8743 5DN6 620 00 2
v AK 2DN-2 100 20 1 ||v K3 I v 975 5DN5 600 1.0 1
¢ 975 2HXW2 470 100 1 |[|e J43 ¢ 72 4SXE-3 500 3.0 1
» AKJ84 & QJ95 a A8
» AJ32 *eVAN 4,95
v J98 N 366~6 »JT2
T S 366~6 ¢QT
& Q9652 E ~~~1~ aKT7432
W ~~~1~
743 3CE-1-100 Mean: 3CE-1 100 20 1 |[|# 14 » K63 4HE4 420 Mean: 6HE-2 100 9.0 1
v A87 2DN3 -110 50 2NN2 120 2.0 1 T 4HE5 450 -320 3HE3 140 50 1
» AQ76 Dif: 10 NS:2 2DN3 110 2.0 1 + AQJ93 Dif: -30 Ns:-4 A 00 4
& A92 IMP: 0 EW:-2 1NN2 120 20 2 a AT87 IMP: -1 EW:3 4HE4 420 30 5
N & KQJ9 2DN2 90 10 1 ||e 542 & AQJ9 4HE5 450 40 1
v J2 A 0.0 4 [|v 432 v AKQ976
+ ¢ J3 3DN-1 -100 40 1 []|e 52 ¢ KT
» KJ643 2cw2 90 -40 1 ||e KQ942 a5
& 1652 ¢V AN 4 T87
v KQT9 N ~2~~~ ¢J85
o K42 S ~1~~~ 48764
& 87 E ~~332 aJ63
W ~~332
» AQJ86 5CS5 -600 Mean: 5CS5 600 6.0 1 |[|# 16 » AK842 3SN-3 150 Mean: 3DS3 110 3.0 1
5 2DN3 -110 370  4SN4 620 6.0 4 v A6 2DS4 130 20 3DN4 130 30 1
« K75 Dif: -490 NS:-6 A 00 4 ¢ 74 Dif: 280 NS:3 2SN2 110 3.0 2
& AJ94 IMP: -10 EW:-6 2DN3 110 60 1 a AJ62 IMP: 7 EW:5 2DS4 130 30 1
a KT74 58S-1 -100 -10.0 1 |[|& QJ96 s 73 A 00 4
v JT96 3NS-1 -100 100 1 || T872 — v KQ54 3NN-1 50 20 1
+ A8 ¢ T2 ¢ A98 3SN-3 150 5.0 1
a 765 & Q87 a KT54 3NS-4 200 -60 1
# 953 S OVABN oT5
v AK2 N ~4~11 ¢J93
¢+ Q94 S ~4~1~ ¢ KQJE53
& KQT8 E ~~~~~ a 93
W ~~~~~
a4 KT6 4HS6 -480 Mean: 6HN6 980 100 1 ||# 18 a5 2SW3 140 Mean: 3SW-2 100 40 1
v K53 4HS6 -480 530 A 00 4 v 982 2SW-1-50 -50  3CN3 110 40 1
o A73 Dif: 0 NS:-2 4HS6 480 2.0 3 * AQ92 Dif: 190 NS:3 2SW-1 50 30 1
& AKQT IMP: 0 EW:2 4HN6 480 2.0 2 » A8653 IMP: 5 EW:3 A 00 4
s 52 4HN5 450 20 2 ||a AJB63 a KT7 3CS-1 100 20 1
v 97 v KQJ4 I v T75 3CN-1 100 20 1
+ KJ965 ¢ 65 ¢ 8743 3SW3 140 3.0 1
» J863 & 74 ~ KQT 2SW3 140 3.0 1
» AJ43 eV AN 4 Q942 2NS-2 200 -40 1
v JT8642 N 21~~~ «AB3
* Q4 S 21~~~ oKIT
&5 E ~~121 aJ92
W ~~121
 J75 4SW-3 -300 Mean: 4SW-4 400 50 1 [|# 20 » Q643 3NW5 660 Mean: 3NW4 630 1.0 2
vJ 2SW-2 -200 210  4SW-3 300 30 1 v 182 3NW4 630 -650 A 00 4
» AQ65 Dif: -100 NS:-0 3SW-3 300 30 1 ¢ Q3 Dif: 30 NS:1 3NW5 660 0.0 6
& AJ982 IMP: -3 EW:-3 A 00 4 » JT64 IMP: 1 EW:-0
» QT2 3SW-2 200 00 1 ||sAJ9 s KT72
v T63 2SW-2 200 00 3 ||v AK + v 973
¢ T73 3HS-1 50 -6.0 1 |]|e KT842 + A95
» KQ75 & 982 a A75
94 *eVAN 485
» A98742 N ~~~~~ v QJ654
¢ K9 S ~~~~~ ¢ J76
& 643 E ~4~44 aKQ3
W ~4~414




10EF<F 2RBERFRE

==> RO

#1: 3 BEZ(70.68) #2: 2 BB R (63. 9) #3: 9 LLIEHE(60.07)

mmwzZz »eed> * mmwzZz »ee>

3*

Peoecd >

Peoecd

S

mmwzZz »eed>

vinn 6 2GR
(X3
tille WX
=11 4 N
1l ww P
tINNZ

tlilowwd
IR TR

I NN Z

AK863

P
o
a

J842

-

[EREINERIH
Sall e
rion €
[T T I Y

NS: 7 T3 S5%FEAC) 10 6 NS: fi5R &) #EELR(FI0) 13 9.61 10.39| Total VP: 60.07 Rank:
EW: FENER MYE4EEI0) -13 EW: 184 MImE(FAC) 1 IMP:| 9 : 10 3
» KQ87 3HE-2 -100 Mean: 3HE-2 100 40 1 |[|# 12 a A 4HNG6 -680 Mean: 5HNG6 680 20 1
v Q7 2CE-1-50 -40 3HW-1 50 30 1 v AQ864 5DN6 -620 620  4HN6 680 2.0 2
» AQ842 Dif: -50 NS:3 2CE-1 50 30 3 + AK9865 Dif: -60 NS:-0 5HN5 650 1.0 1
&73 IMP: -2 EW:-4 A 00 4 a6 IMP: -2 EW:-2 A 00 4
s T65 2DN-1 -50 00 1 [|a QT62 & KJ8743 5DN6 620 00 2
v AK 2DN-2 100 20 1 ||v K3 I v 975 5DN5 600 1.0 1
¢ 975 2HXW2 470 100 1 |[|e J43 ¢ 72 4SXE-3 500 3.0 1
» AKJ84 & QJ95 a A8
» AJ32 *eVAN 4,95
v J98 N 366~6 »JT2
T S 366~6 ¢QT
& Q9652 E ~~~1~ aKT7432
W ~~~1~
743 2CW290 Mean: 3CE-1 100 20 1 |[|# 14 » K63 4HE4 420 Mean: 6HE-2 100 9.0 1
v A87 2DN2-90 50 2NN2 120 2.0 1 T 4HE4 420 -320 3HE3 140 50 1
» AQ76 Dif: 180 NS:1 2DN3 110 2.0 1 + AQJ93 Dif: 0 NS:-3 A 00 4
& A92 IMP: 5 EW:4 1NN2 120 20 2 a AT87 IMP: 0 EW:3 4HE4 420 30 5
N & KQJ9 2DN2 90 10 1 ||e 542 & AQJ9 4HE5 450 40 1
v J2 A 0.0 4 [|v 432 v AKQ976
+ ¢ J3 3DN-1 -100 40 1 []|e 52 ¢ KT
» KJ643 2cw2 90 -40 1 ||e KQ942 a5
& 1652 ¢V AN 4 T87
v KQT9 N ~2~~~ ¢J85
o K42 S ~1~~~ 48764
& 87 E ~~332 aJ63
W ~~332
» AQJ86 4SN4 -620 Mean: 5CS5 600 6.0 1 |[|# 16 » AK842 2SN2 -110 Mean: 3DS3 110 3.0 1
5 4SN4 -620 370  4SN4 620 6.0 4 v A6 3DN4 -130 20 3DN4 130 30 1
* K75 Dif: 0 NS:6 A 00 4 * 74 Dif: 20 NS:3 2SN2 110 3.0 2
& AJ94 IMP: 0 EW:-6 2DN3 110 60 1 a AJ62 IMP: 1 EW:3 2DS4 130 3.0 1
a KT74 58S-1 -100 -10.0 1 |[|& QJ96 s 73 A 00 4
v JT96 3NS-1 -100 100 1 || T872 — v KQ54 3NN-1 50 20 1
+ A8 ¢ T2 ¢ A98 3SN-3 150 5.0 1
a 765 & Q87 a KT54 3NS-4 200 -60 1
# 953 S OVABN oT5
v AK2 N ~4~11 ¢J93
¢+ Q94 S ~4~1~ ¢ KQJE53
& KQT8 E ~~~~~ a 93
W ~~~~~
a4 KT6 4HNG6 -480 Mean: 6HNG6 980 100 1 ||# 18 a5 3CN3 -110 Mean: 3SW-2 100 40 1
v K53 4HNG6 -480 530 A 00 4 v 982 3SW3 140 -50 3CN3 110 40 1
o A73 Dif: 0 NS:-2 4HS6 480 2.0 3 * AQ92 Dif: -250 NS:-3 2SW-1 50 30 1
& AKQT IMP: 0 EW:2 4HN6 480 2.0 2 » A8653 IMP: -6 EW:-4 A 00 4
s 52 4HN5 450 20 2 ||a AJB63 a KT7 3CS-1 -100 20 1
v 97 v KQJ4 I v T75 3CN-1 100 20 1
+ KJ965 ¢ 65 ¢ 8743 3SW3 140 3.0 1
» J863 & 74 ~ KQT 2SW3 140 3.0 1
» AJ43 eV AN 4 Q942 2NS-2 200 -40 1
v JT8642 N 21~~~ «AB3
* Q4 S 21~~~ oKIT
&5 E ~~121 aJ92
W ~~121
 J75 3SW-3 -300 Mean: 4SW-4 400 50 1 [|# 20 » Q643 3NW5 660 Mean: 3NW4 630 1.0 2
vJ 4SW-4 -400 210  4SW-3 300 30 1 v 182 3NW5 660 -650 A 00 4
» AQ65 Dif: 100 NS:5 3SW-3 300 30 1 ¢ Q3 Dif: 0 NS:-0 3NW5 660 0.0 6
& AJ982 IMP: 3 EW:-3 A 00 4 » JT64 IMP: 0 EW:-0
» QT2 3SW-2 200 00 1 ||sAJ9 s KT72
v T63 2SW-2 200 00 3 ||v AK + v 973
¢ T73 3HS-1 50 -6.0 1 |]|e KT842 + A95
» KQ75 & 982 a A75
94 *eVAN 485
» A98742 N ~~~~~ v QJ654
¢ K9 S ~~~~~ ¢ J76
& 643 E ~4~44 aKQ3
W ~4~414




¥ l\ ——
5 105 2RBERF 2B == RS 5
AVA
#1: 3 B£2(70.68) #2: 2 ,U\J@\Zﬁ(& 9) #3: 9 LI7E1E60.07)
1 O INS: (BHC) 0 7 NS: (FA0)0 10.00 : 12.00| Total VP: 50.00 Rank:
EW: (B0) 0 EW: (EiC)0 IMP:| 0 : O 6
___
# 1 » KQ87 A Mean: 3HE-2 100 40 1 |[|# 12 aA A Mean: 5HN6 680 2.0 1
v Q7 A -40  3HW-1 50 30 1 v AQ864 A 620  4HN6 680 2.0 2
» AQ842 Dif: 0 NS:-0 2CE-1 50 30 3 + AK9865 Dif: 0 NS:-0 5HN5 650 1.0 1
&73 IMP: 0 EW:0 A 00 4 a6 IMP: 0 EW:0 A 0.0 4
s 94 # T65 2DN-1 50 00 1 ||a QT62 » KJ8743 5DN6 620 00 2
v T65432 v AK 2DN-2 100 20 1 ||e K3 I v 975 5DN5 600 1.0 1
+ KJB3 ¢ 975 2HXW2 470 100 1 ||e J43 72 4SXE-3 500 3.0 1
&T & AKJ84 & QJ95 & A8
B o VAN 4AI32 P OVABN 495
N 2~~32 ¢J98 N 366~6 odJT2
S 2~~32 T S 366 ~6 ¢ QT
E ~~1~~ &Q9652 E ~~~1~ a&KT7432
~~1~~ W ~~~1~
# 13 a 743 A Mean: 3CE-1 100 20 1 [|# 14 » K63 A Mean: 6HE-2 100 9.0 1
v A87 A 50  2NN2 1200 20 1 T A 320 3HE3 140 50 1
+ AQ76 Dif: 0 NS:-0 2DN3 10 20 1 + AQJ93 Dif: 0 NS:-0 A 00 4
& A92 IMP: 0 EW:-0 1NN2 120 20 2 a AT87 IMP: 0 EW:-0 4HE4 420 30 5
a A8 N » KQJ9 2DN2 20 1.0 1 ||a 542 » AQJ9 4HES 450 -4.0 1
v 6543 v J2 A 00 4 ||v 432 v AKQ976
o T985 + +J3 3BDNA 100 40 1 ||e52 o KT
& QT5 & KJ643 2CW2 -90 40 1 & KQ942 &5
do o VAN 4,T652 ¢V AN 4, T87
N ~23~2 «KQT9 N ~2~~~ ¢J8
S ~23~2 ¢K42 S ~ 1~~~ ¢ 8764
E 2~~~~ 887 E ~~332 &J63
2 ~~~~ W ~~332
# 15 » AQJ86 A Mean: 5CS5 600 6.0 1 ||# 16 & AK842 A Mean: 3DS3 110 30 1
v5 A 370 4SN4 620 60 4 v A6 A 20 3DN4 130 30 1
+ K75 Dif: 0 NS:-0 A 00 4 ¢ 74 Dif: 0 NS:-0 2SN2 10 30 2
& AJ94 IMP: 0 EW:-0 2DN3 10 60 1 » AJG2 IMP: 0 EW:-0 2DS4 130 30 1
a2 » KT74 55S-1 100 -10.0 1 ||a QJ96 a73 A 0.0 4
v Q8743 v JT96 3NS-1 100 -10.0 1 ||e T872 —_— v KQ54 3NN-1 50 2.0 1
¢ JT632 ¢ A8 ¢ T2 + A98 3SN-3 150 -5.0 1
& 32 & 765 & Q87 & KT54 3NS-4 -200 -6.0 1
B VAN 4,953 S OVABN oT5
N 5~~43 oAK2 N ~4~11 «J93
S 5~~43 ¢+Q9%4 S ~4~1~ ¢ KQJG53
E ~~~~~ & KQT8 E ~~~~~ » 93
~~~~~ W ~ o~ o~ o~ o~
# 17 » KT6 A Mean: 6HN6 980 100 1 [|# 18 a5 A Mean: 3SW-2 100 40 1
v K53 A 530 A 00 4 v 982 A 50 3CN3 110 40 1
¢ A73 Dif: 0 NS:-0 4HS6 480 2.0 3 + AQ92 Dif: 0 NS:-0 2SW-1 50 30 1
& AKQT IMP: 0 EW:-0 4HN6 480 2.0 2 & AB653 IMP: 0 EW:0 A 0.0 4
» Q987 52 4HN5 450 2.0 2 ||a AJSG3 s KT7 3Cs-1 100 20 1
v AQ v 97 v KQu4 I v T75 3CN-1 100 20 1
¢ T82 + KJ965 ¢ 65 ¢ 8743 3sw3 140 -3.0 1
& 9742 & J863 & 74 & KQT 2SwW3 140 -3.0 1
VAN 4AJL3 F ¢V AN 4 Q942 2NS-2 200 -40 1
N ~~656 «JT8642 N 21~~~ «A63
S ~~645 +Q4 S 21~~~ oKIT
E ~~~~~ &5 E ~~121 aJ92
~~~~~ W ~~121
# 19 aJ75 A Mean: 4SW-4 400 50 1 |[|# 20 » Q643 A Mean: 3NW4 630 1.0 2
v A 210 4SW-3 300 30 1 v 782 A 650 A 00 4
+ AQ65 Dif: 0 NS:-0 3SW-3 300 30 1 ¢ Q3 Dif: 0 NS:-0 3NW5 660 0.0 6
& AJ982 IMP: 0 EW:-0 A 00 4 » JT64 IMP: 0 EW:-0
# AK863 & QT2 3SwW-2 200 00 1 & AJ9 & KT72
v KQ5 v T63 2SW-2 200 00 3|[|wAK + v 973
¢ J842 ¢ T73 3HS-1 -50 60 1 ¢ KT842 ¢ A95
&T & KQ75 & 982 & A75
oeVAN 4,94 B OVABN 485
N 3 ~ 2~ ~ ¢ A98742 N ~~~~~ v QJ654
S 2~2~~ ¢K9 S ~~~~~ + J76
E ~1~~2 2643 E ~4~44 aKQ3
~1~~2 W ~4~44




Ll q >3z s\ 4 —_
5 102 E<F2RABEERF2RE == RS 5
AVA ! | ~ _-h-
#1: 3 BE/2(70.68) #2: 2 BB 2 52(63.9) #3: 9 LLITEE(60.07)
1 1 INS: (BHO0) 0 12 NS: (FiC) 0 VP:| 0.00 0.00 Total VP: 0.00 Rank:
EW: (BC)0 EW: (F0)0 IMP:| 0 : O 1
___
# 1 » KQ87 A Mean: 3HE-2 100 40 1 |[|# 12 aA A Mean: 5HN6 680 2.0 1
v Q7 A -40  3HW-1 50 30 1 v AQ864 A 620  4HN6 680 2.0 2
» AQ842 Dif: 0 NS:0 2CE-1 50 30 3 + AK9865 Dif: 0 NS:0 5HN5 650 1.0 1
&73 IMP: 0 EW:0 A 00 4 a6 IMP: 0 EW:0 A 0.0 4
s 94 # T65 2DN-1 50 00 1 ||a QT62 » KJ8743 5DN6 620 00 2
v T65432 v AK 2DN-2 100 20 1 ||e K3 I v 975 5DN5 600 1.0 1
+ KJB3 ¢ 975 2HXW2 470 100 1 ||e J43 72 4SXE-3 500 3.0 1
&T & AKJ84 & QJ95 & A8
B o VAN 4AI32 P OVABN 495
N 2~~32 ¢J98 N 366~6 odJT2
S 2~~32 T S 366 ~6 ¢ QT
E ~~1~~ &Q9652 E ~~~1~ a&KT7432
~~1~~ W ~~~1~
# 13 a 743 A Mean: 3CE-1 100 20 1 [|# 14 » K63 A Mean: 6HE-2 100 9.0 1
v A87 A 50  2NN2 1200 20 1 T A 320 3HE3 140 50 1
+ AQ76 Dif: 0 NS:0 2DN3 10 20 1 + AQJ93 Dif: 0 NS:0 A 00 4
& A92 IMP: 0 EW:0 1NN2 120 20 2 a AT87 IMP: 0 EW:0 4HE4 420 30 5
a A8 N » KQJ9 2DN2 20 1.0 1 ||a 542 » AQJ9 4HES 450 -4.0 1
v 6543 v J2 A 00 4 ||v 432 v AKQ976
o T985 + +J3 3BDNA 100 40 1 ||e52 o KT
& QT5 & KJ643 2CW2 -90 40 1 & KQ942 &5
do o VAN 4,T652 ¢V AN 4, T87
N ~23~2 «KQT9 N ~2~~~ ¢J8
S ~23~2 ¢K42 S ~ 1~~~ ¢ 8764
E 2~~~~ 887 E ~~332 &J63
2 ~~~~ W ~~332
# 15 » AQJ86 A Mean: 5CS5 600 6.0 1 ||# 16 & AK842 A Mean: 3DS3 110 30 1
v5 A 370 4SN4 620 60 4 v A6 A 20 3DN4 130 30 1
+ K75 Dif: 0 NS:0 A 00 4 ¢ 74 Dif: 0 NS:0 2SN2 10 30 2
& AJ94 IMP: 0 EW:0 2DN3 10 60 1 » AJG2 IMP: 0 EW:0 2DS4 130 30 1
a2 » KT74 55S-1 100 -10.0 1 ||a QJ96 a73 A 0.0 4
v Q8743 v JT96 3NS-1 100 -10.0 1 ||e T872 —_— v KQ54 3NN-1 50 2.0 1
¢ JT632 ¢ A8 ¢ T2 + A98 3SN-3 150 -5.0 1
& 32 & 765 & Q87 & KT54 3NS-4 -200 -6.0 1
B VAN 4,953 S OVABN oT5
N 5~~43 oAK2 N ~4~11 «J93
S 5~~43 ¢+Q9%4 S ~4~1~ ¢ KQJG53
E ~~~~~ & KQT8 E ~~~~~ » 93
~~~~~ W ~ o~ o~ o~ o~
# 17 » KT6 A Mean: 6HN6 980 100 1 [|# 18 a5 A Mean: 3SW-2 100 40 1
v K53 A 530 A 00 4 v 982 A 50 3CN3 110 40 1
¢ A73 Dif: 0 NS:0 4HS6 480 2.0 3 + AQ92 Dif: 0 NS:0 2SW-1 50 30 1
& AKQT IMP: 0 EW:0 4HN6 480 2.0 2 & AB653 IMP: 0 EW:0 A 0.0 4
» Q987 52 4HN5 450 2.0 2 ||a AJSG3 s KT7 3Cs-1 100 20 1
v AQ v 97 v KQu4 I v T75 3CN-1 100 20 1
¢ T82 + KJ965 ¢ 65 ¢ 8743 3sw3 140 -3.0 1
& 9742 & J863 & 74 & KQT 2SwW3 140 -3.0 1
VAN 4AJL3 F ¢V AN 4 Q942 2NS-2 200 -40 1
N ~~656 «JT8642 N 21~~~ «A63
S ~~645 +Q4 S 21~~~ oKIT
E ~~~~~ &5 E ~~121 aJ92
~~~~~ W ~~121
# 19 aJ75 A Mean: 4SW-4 400 50 1 |[|# 20 » Q643 A Mean: 3NW4 630 1.0 2
v A 210 4SW-3 300 30 1 v 782 A 650 A 00 4
+ AQ65 Dif: 0 NS:0 3SW-3 300 30 1 ¢ Q3 Dif: 0 NS:0 3NW5 660 0.0 6
& AJ982 IMP: 0 EW:0 A 00 4 » JT64 IMP: 0 EW:0
# AK863 & QT2 3SwW-2 200 00 1 & AJ9 & KT72
v KQ5 v T63 2SW-2 200 00 3|[|wAK + v 973
¢ J842 ¢ T73 3HS-1 -50 60 1 ¢ KT842 ¢ A95
&T & KQ75 & 982 & A75
oeVAN 4,94 B OVABN 485
N 3 ~ 2~ ~ ¢ A98742 N ~~~~~ v QJ654
S 2~2~~ ¢K9 S ~~~~~ + J76
E ~1~~2 2643 E ~4~44 aKQ3
~1~~2 W ~4~44




Ll q >3z s\ 4 —_
5 102 E<F2RABEERF2RE == RS 5
AVA ! | ~ _-h-
#1: 3 BE/2(70.68) #2: 2 BB 2 52(63.9) #3: 9 LLITEE(60.07)
1 2 INS: (BHC) 0 11 NS: (FA0)0 VP:| 0.00 0.00 Total VP: 0.00 Rank:
EW: (B0) 0 EW: (EiC)0 IMP:| 0 : O 1
___
# 1 » KQ87 A Mean: 3HE-2 100 40 1 |[|# 12 aA A Mean: 5HN6 680 2.0 1
v Q7 A -40  3HW-1 50 30 1 v AQ864 A 620  4HN6 680 2.0 2
» AQ842 Dif: 0 NS:-0 2CE-1 50 30 3 + AK9865 Dif: 0 NS:-0 5HN5 650 1.0 1
&73 IMP: 0 EW:0 A 00 4 a6 IMP: 0 EW:0 A 0.0 4
s 94 # T65 2DN-1 50 00 1 ||a QT62 » KJ8743 5DN6 620 00 2
v T65432 v AK 2DN-2 100 20 1 ||e K3 I v 975 5DN5 600 1.0 1
+ KJB3 ¢ 975 2HXW2 470 100 1 ||e J43 72 4SXE-3 500 3.0 1
&T & AKJ84 & QJ95 & A8
B o VAN 4AI32 P OVABN 495
N 2~~32 ¢J98 N 366~6 odJT2
S 2~~32 T S 366 ~6 ¢ QT
E ~~1~~ &Q9652 E ~~~1~ a&KT7432
~~1~~ W ~~~1~
# 13 a 743 A Mean: 3CE-1 100 20 1 [|# 14 » K63 A Mean: 6HE-2 100 9.0 1
v A87 A 50  2NN2 1200 20 1 T A 320 3HE3 140 50 1
+ AQ76 Dif: 0 NS:-0 2DN3 10 20 1 + AQJ93 Dif: 0 NS:-0 A 00 4
& A92 IMP: 0 EW:-0 1NN2 120 20 2 a AT87 IMP: 0 EW:-0 4HE4 420 30 5
a A8 N » KQJ9 2DN2 20 1.0 1 ||a 542 » AQJ9 4HES 450 -4.0 1
v 6543 v J2 A 00 4 ||v 432 v AKQ976
o T985 + +J3 3BDNA 100 40 1 ||e52 o KT
& QT5 & KJ643 2CW2 -90 40 1 & KQ942 &5
do o VAN 4,T652 ¢V AN 4, T87
N ~23~2 «KQT9 N ~2~~~ ¢J8
S ~23~2 ¢K42 S ~ 1~~~ ¢ 8764
E 2~~~~ 887 E ~~332 &J63
2 ~~~~ W ~~332
# 15 » AQJ86 A Mean: 5CS5 600 6.0 1 ||# 16 & AK842 A Mean: 3DS3 110 30 1
v5 A 370 4SN4 620 60 4 v A6 A 20 3DN4 130 30 1
+ K75 Dif: 0 NS:-0 A 00 4 ¢ 74 Dif: 0 NS:-0 2SN2 10 30 2
& AJ94 IMP: 0 EW:-0 2DN3 10 60 1 » AJG2 IMP: 0 EW:-0 2DS4 130 30 1
a2 » KT74 55S-1 100 -10.0 1 ||a QJ96 a73 A 0.0 4
v Q8743 v JT96 3NS-1 100 -10.0 1 ||e T872 —_— v KQ54 3NN-1 50 2.0 1
¢ JT632 ¢ A8 ¢ T2 + A98 3SN-3 150 -5.0 1
& 32 & 765 & Q87 & KT54 3NS-4 -200 -6.0 1
B VAN 4,953 S OVABN oT5
N 5~~43 oAK2 N ~4~11 «J93
S 5~~43 ¢+Q9%4 S ~4~1~ ¢ KQJG53
E ~~~~~ & KQT8 E ~~~~~ » 93
~~~~~ W ~ o~ o~ o~ o~
# 17 » KT6 A Mean: 6HN6 980 100 1 [|# 18 a5 A Mean: 3SW-2 100 40 1
v K53 A 530 A 00 4 v 982 A 50 3CN3 110 40 1
¢ A73 Dif: 0 NS:-0 4HS6 480 2.0 3 + AQ92 Dif: 0 NS:-0 2SW-1 50 30 1
& AKQT IMP: 0 EW:-0 4HN6 480 2.0 2 & AB653 IMP: 0 EW:0 A 0.0 4
» Q987 52 4HN5 450 2.0 2 ||a AJSG3 s KT7 3Cs-1 100 20 1
v AQ v 97 v KQu4 I v T75 3CN-1 100 20 1
¢ T82 + KJ965 ¢ 65 ¢ 8743 3sw3 140 -3.0 1
& 9742 & J863 & 74 & KQT 2SwW3 140 -3.0 1
VAN 4AJL3 F ¢V AN 4 Q942 2NS-2 200 -40 1
N ~~656 «JT8642 N 21~~~ «A63
S ~~645 +Q4 S 21~~~ oKIT
E ~~~~~ &5 E ~~121 aJ92
~~~~~ W ~~121
# 19 aJ75 A Mean: 4SW-4 400 50 1 |[|# 20 » Q643 A Mean: 3NW4 630 1.0 2
v A 210 4SW-3 300 30 1 v 782 A 650 A 00 4
+ AQ65 Dif: 0 NS:-0 3SW-3 300 30 1 ¢ Q3 Dif: 0 NS:-0 3NW5 660 0.0 6
& AJ982 IMP: 0 EW:-0 A 00 4 » JT64 IMP: 0 EW:-0
# AK863 & QT2 3SwW-2 200 00 1 & AJ9 & KT72
v KQ5 v T63 2SW-2 200 00 3|[|wAK + v 973
¢ J842 ¢ T73 3HS-1 -50 60 1 ¢ KT842 ¢ A95
&T & KQ75 & 982 & A75
oeVAN 4,94 B OVABN 485
N 3 ~ 2~ ~ ¢ A98742 N ~~~~~ v QJ654
S 2~2~~ ¢K9 S ~~~~~ + J76
E ~1~~2 2643 E ~4~44 aKQ3
~1~~2 W ~4~44




